
[image: f(x)=5]
 
[image: f(x)=-2x]
 
 [image: f(x)=-2x+2]
 
[image: f(x)=-2x^{2}-5]
 
 [image: f(x)=2x^{4}+x^{3}-x^{2}+4]
 
 [image: f(x)=\cfrac{x^{3}+2}{3}]
 
[image: f(x)=\cfrac{1}{3x^{2}}]
 
 [image: f(x)=\cfrac{x+1}{x-1}]
 
 [image: f(x)=(5x^{2}-3)\cdot (x^{2}+x+4)]
 


[image: f(x)=\cfrac{5}{x^{5}}]
 
[image: f(x)=\cfrac{5}{x^{5}}+\cfrac{3}{x^{2}}]
 
 [image: f(x)=\sqrt{x}]
 
[image: f(x)=\cfrac{1}{\sqrt{x}}]

[image: f(x)=\cfrac{1}{x\cdot \sqrt{x}}]

[image: f(x)=\sqrt[3]{x^{2}}+\sqrt{x}]

[image: f(x)=(x^{2}+3x-2)^{4}]

[image: f(x)=\sqrt{x^{2}-2x+3}]

[image: f(x)=\sqrt[4]{x^{5}-x^{3}-2}]
 


Puede consultar estos videos 
https://www.youtube.com/watch?v=m_5-WS9Nd68

https://www.youtube.com/watch?v=uKtq7gW3vr8
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flz) = Va2 + Jx
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flz) = (z* + 3z — 2)*
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flz)=Va?—-2x+3




image18.png




image19.tmp




image1.png




image2.png
flz) = 2z
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flz) = —2z* -5
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flz) =2z + a° —x* + 4
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